Single-Digit Addition (A)

No Regrouping No Zeros
2+4+3= T+2= 3+3= 3+6=
I+6= I+1= 4+4+2= l+1=
24+7= 4+3= 44+2= 3+5=
2+5= 1+7= 2+2= 6+2=
8+ 1= 3+1= 8+ 1= 24+2=
2+6= 2+3= 1+8= 6+2=
2+4= 44+3= 4+3= 24+7=
T+1= 1+8= T+1= 1+3=
7T+2= 444 = 3+4= S+1=
1+2= 4+1= 6+3= 2+3=
2+4= 8+ 1= 6+3= 3+4=
1+7= 2+5= 3+1= 2+1=
3+2= 3+3= 2+4= 4+4+5=
24+1= 4+1= 3+3= 3+2=
I+6= 5+3= 4+1= T+1=
3+1= 44+4= 2+6= 6+1=
3+4= 44+5= 1+2= 1+4=
I1+6= 1+5= 6+2= 1+2=
542= 2+1= 6+1= 5+44=
2+2= 5+43= T+2= 1+4=
6+3= S5+1= 4+2= 3+2=
5+4= 1+5= 6+1= 3+5=
44+5= 2+6= S5+2= 1+7=
1+8= 1+3= 4+4= 1+5=
5+2= 1+3= 2+7= 3+6=
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24+3=5
I1+6=7
24+7=9
2+5=7
8+1=9
2+6=8
2+4=6
7+1=8
7+2=9
1+2=3
2+4=6
1+7=8
3+2=5
2+1=3
I1+6=7
3+1=4
3+4=7
1+6=7
5+2=7
2+2=4
6+3=9
5+4=9
4+5=9
I1+8=9
5+2=7

No Regrouping No Zeros
7+2=9 3+3=6
I+1=2 4+2=6
4+3=7 44+2=6
1+7=8 2+2=4
3+1=4 8+1=9
2+3=5 1+8=9
4+3=17 4+3=17
1+8=9 7+1=8
4+4=8 3+4=7
4+1=5 6+3=9
8+1=9 6+3=9
24+5=7 3+1=4
3+3=6 2+4=6
4+1=5 3+3=6
5+43=8 4+1=5
4+4=8 2+6=8
4+5=9 1+2=3
1+5=6 6+2=38
2+1=3 6+1=7
5+3=8 7T+2=9
5+1=6 4+2=06
1+5=6 6+1=7
2+6=8 S+2=7
1+3=4 4+4=8
1+3=4 2+7=9

Single-Digit Addition Answers (A)

3+6=9
1+1=2
3+5=8
6+2=28
2+2=4
6+2=28
2+7=9
1+3=4
5+1=6
2+3=5
3+4=17
2+1=3
4+5=9
3+2=5
7+1=8
6+1=7
1+4=5
1+2=3
5+4=9
1+4=5
3+2=5
3+5=8
1+7=8
1+45=6
3+6=9
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